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9 0.5 35

L i A cliall Adtia alaa day ) jLsdl a3 el ) AdLaYL g -2
.n=30, 50, 100, 200
. 1000=L) ) & a3 JS ) S5
-1 AV CailS g SN Jana g Al grall Adly pakil B gf A5G jLsdl a3 -3
t=1,273
-1 AU Al jal)
BUS B Al (A pdal) &l padall) bl Mg b (simulation) slskaall & AUl 3 ghdl) -1
oo iVl Ay sY) dpulal) Ao gy il Ay (0t,) 858N G ((Uniform(u;) plidie
s Ay Al
U=RND
CugSrall Jygaill A8y phal ) G glual) Jlamioal o3 (Al Bokadl) ) oadgi AT A ydal) Jysail -2
5 Joaally Al gdal) @l patiall A6 A Lllelisy didg (Inverse trans from method)
7 0).,)Ckalna 53 ) gl aui Gty
v =F(x) ... (29)
FO) =1 —exp[—(t —n)/6]
v =1—exp[-(t—n)/0]
exp[-(t—n)/0] =1-v
[=(t=n)/0] = 10g(1 —v)
t=n—0log(1l—v)
-1 AN Aa Al
A My sl Judutall cpallailly ([0 77) Giadaay o) gl gl Ay jpas a5
=AY ) 35 sk caa g ookl culall (A lgaun
(MLE). pke ) clsaY) 43y 4 -1
(BMS) dpuil) 3 48y 4k -2
-1 dagl ) dlda yall
(i ) I (s siadly Judusiall cpallailly (pialea 53 ) @y sl il (331 ke o 458l Als ya (o
—tthan ¥ Gebiall aladis 45 jaal s el o
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(Mean Squared Error(MSE Uadlf cilay ya Jacu gia =1

N 1 L N
MSE (R (t)) = T D (Ri (t) - R(t)?
i=1
. 4y,03 U< (Replications) i) Sl sae © L&) 3

) b aadteadl 3Ll s A el s R(1)
slSlacal) o ylad AsBlia -2
Oialaay us¥1 a3 5l A gaal) ANy ol Lghdat g alSlaall (o jlad il Adilie wips Canll 128 3
Sl 13 (e gkl cladl 8 dana sall 33l hall Cana (g ) siall 5 Jualudiall (paallaill
Uadl) lay o o 5in (2) 0 Jsaal e gy s Wbt s 1 Jglaadl 8 daia sl gilial) i Lad s
-:(1000= L&l _Se 22 4y jaily il o sas sy g duia yidal) dadll VIS Cas A gadll Ally ol

n; |t [MLE [BMS [Best
30 |1 ]0.0047 |0.0042 Rpus
2 [ 0.0044 | 0.0044 | Rpys&Ru1k (2)Jd 52
3 | 0.0025 | 0.0028 Ryik (MSE) Uail) clay o b gia (i
50 |1 [0.0025 | 0.0024 Rpus Gl Al A
2 10.0024 [ 0.0024 | Rgpys&Ru1r o) Al adliaal) el
3 [0.0014 | 0.0015 Rusyr Aua el cleleall
100 |1 | 0.0012 | 0.0012 | Ryys&Ruis e mE00tes Ly
29 il pY
2 10.0013 [ 0.0013 | Rpys&RuLe (L=1000) 3,50
3 [0.0008 | 0.0008 | Rpys&Ruie
200 | 1 | 0.0006 | 0.0006 | Rpys&RuLE
2 1 0.0006 | 0.0006 | Rpys&RuLe
3 [0.0004 | 0.0004 | Rppys&Ruie
n |t MLE| BMS Best
30 | 1| 0.0040 | 0.0035 Rpus (3)Jsaa
2| 0.0042 | 0.0040 Rpus (MSE) Usll o ya Jacs sia
3| 0.0024 | 0.0026 Ry.r e gl phall A gaal) Al i
1| 0.0024 | 0.0023 Raus Glabdly L0 Alall  Aalia)
50| 2| 0.0026 | 0.0026 Ry 1e&Rpus 9 (n=0.1,0 = 1. 5)4a jidd)
Ne A aily Glall agaa Gy
3| 0.0015 | 0.0016 RyLr L1000 Wk
1| 0.0011]0.0011| Ry r&Rpus
100 [ 2| 0.0013 | 0.0012 Raus
3| 0.0007 | 0.0008 RyLr
1| 0.0006 | 0.0005 Rpus
200 | 2| 0.0006 | 0.0006 | Ry r&Rpus
3| 0.0004 | 0.0004 | Ry r&Rpus
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n; | t | MLE | BMS Best
30 | 1 |0.0027 | 0.0023 R
2 10.0048 | 0.0046 | Rpnre L (4)ded
(MSE) Ul cilay ya Jas gia (s
3 | 0.0032 | 0.0034 RyLr il (il A gral) Aty
50 | 1 | 0.0014 | 0.0012 Rays Cilalaally A5 Adlall A_AVaL)
2 | 0.0027 | 0.0026 Rpuys (1 =0.5,0 = 1.5) i ikal
3 | 0.0019 | 0.0020 RuyLe W de il g Sldiad) 0 i ity
100 | 1 | 0.0007 | 0.0006 | Rpys {(L=1000) L5
2 1 0.0014 | 0.0014 | Ry, z&Rpus
3 | 0.0010 | 0.0010 | Ry z&Rpus
200 | 1 | 0.0003 | 0.0003 | Ry r&Rpus
2 | 0.0007 | 0.0007 | Ry;z&Rpus
3 | 0.0005 | 0.0005 | Ry z&Rpus |
n; t MLE| BMS Best
30 | L] 0.0027 | 0.0023 Rpus
2| 0.0048 | 0.0046 Rpus
3| 0.0032| 0.0034| Ryr (5)d sl
1| 0.0014 | 0.0012 Rpus ww(vsa%d“ﬁamhﬁﬁ
50| 2| 0.0027| 0.0026 Rpys u“““‘ﬂj Q_f;dw_q; Ll
3| 0.0019 | 0.0020 Ryk ~ B
asda e 9 () =0.01,0 = 2.5)
1| 0.0007 | 0.0006 Rpus L3l e ais A patly cital
100 2| 0.0014 | 0.0014 | Ry e&Rpys | (L=1000)
3| 0.0010 | 0.0010 | Ry z&Rpus
1| 0.0003 | 0.0003 | Ry &Rpus
200 | 2| 0.0007 | 0.0007 | Ry r&Rpys |
3| 0.0005 | 0.0005 | Ry p&Rpys |
n; |t| MLE| BMS Best
30 | 1].0.0029 | 0.0025 Raus L *ﬁ)dii o
2 | 0.0044 | 0.0040 Rpus SR S o=
310.0042 | 0.0041 Rpus Al Ay it (MSE)
1]0.0018 | 0.0016 Reus Alall GG s kU
50 | 2]0.0028 | 0.0027 | Rgys A i) ladaaly el
3]0.0027 [ 0.0026 |  Rpys
1 0.0008 | 0.0008 | Ry, r&Raws Qe 9 (1 =0.1,0 = 2.5)
100 | 2 | 0.0014 | 0.0013 Rpus 2 A jaily aliall agaa
3 10.0014 | 0.0014 | Ry s &Rpuys (L=1000) L¢3}, 5
1| 0.0004 | 0.0004 | Ry z&Rgus
200 | 2 [ 0.0006 | 0.0006 | Ry, z&Rpuys
3 0.0006 | 0.0006 | Ry z&Rpus
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n, | t | MLE | BMS Best
a0 | L |0.002810.0024 |  Rpys
2 | 0.0046 | 0.0042 | Rpys
3 | 0.0045 | 0.0044 | Rpys - (7)ds=
1 | 0.0015 | 0.0013 Rays (MSE) Lbal clsja b gia Gy
50 | 2 | 0.0027 | 0.0025 | Rpys i) 3l A gaal) Ay e
i 888(2); 88852 Rpuys el alaally bl A Al 4aNa LY
. . R .
100 [ 2 10,0013 | 0.0013 | Ryysr&Rams 3(n=0.50=25/—aad
3 | 0.0013 | 0.0013 | Ry; -&Rpus e dmally bl asaa sy
1 | 0.0003 | 0.0003 | Ry &R pus (L=1000) 43/ <a
200 | 2 | 0.0006 | 0.0006 | Ry;z&Rpus
3 1 0.0006 | 0.0006 | Ry z&Rpys
n; | t| MLE | BMS Best ‘ (8)ds
a0 | L|0.0022 [ 0.0016 Rpus Ll cla e Bsia G
2 | 0.0044 | 0.0040 Rpys il idla att (MSE)
3 | 0.0049 | 0.0048 Rpuys Ul Aaksal) ) g
1 | 0.0010 | 0.0008 Riys o i
50 [ 2 | 0.0024 | 0.0022 Rpns Al by A
3 | 0.0028 | 0.0027 Rpys 3(n =0.01,6 = 3.5)
1 | 0.0004 | 0.0003 Rpys Iy adly sl agaa iy
100 | 2 | 0.0012 | 0.0012 | Ry z&Rpus (L=1000) 431 a 325
3 [ 0.0015 | 0.0015 | Ry z&Rpus |
1 | 0.0001 | 0.0001 | Ry;r&Rpms
200 | 2 [ 0.0005 | 0.0005 | Ryyr&Rpus
3 | 0.0007 | 0.0007 | Ry r&Rpaus
n, | t MLE| BMS| Best
a0 L] 0.0022| 0.0017|  Rpys - “@d’ﬂ -
2| 0.0036| 0.0032| Rgys SR B o
3| 0.0044| 0.0041| Rppys gl A it (MSE)
1 0.0012 | 0.0010 Rpus Alall dabdal) pasil)  gi kil
50| 2| 0.0022| 0.0020| Rgys ot el el
3| 0.0028| 0.0026| Rppys
1| 0.0004 | 0.0004 | Ry, &Rpusl e o = 0.1,0 = 3.5)
100 | 2| 0.0010| 0.0009 | Rgys e Aaily cliadl asaa
3 0.0013 | 0.0012 Rpus (L=1000) L¢3/ 5
1| 0.0002| 0.0002 | Ryyr&Rpus
200 | 2| 0.0005 | 0.0005 | Ry r&Rpus
3| 0.0006| 0.0006 | Ry;r&Rpus
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n, | t MLE| BMS Best (10)ds2d
30 | L | 0.0025 | 0.0020 Rpys Uadl) Cluye busie omy
2| 0.0042 | 0.0038 Rpus idsa) W sl (MSE)
3| 0.0050 | 0.0046 Rpus Aall AGS) el kY
1| 0.0012| 0.0010 Rpys Agid el )
50| 2] 0.0022| 0.0020 Rpys s (n=050=35)
3| 0.0027 | 0.0025 Rays O
1| 0.0005| 0.0005 | Ryyz&Rpms Lorls bl pss sy
100 | 2| 0.0010 | 0.0010 | Ry z&Rpus (L=1000) L3l ;80 20
3| 0.0013| 0.0013 | Ruy;r&Rpus
1| 0.0002 | 0.0002 | Ry;r&Rpus
200 | 2| 0.0005| 0.0005 | Ry -&Rpys |
3| 0.0006 | 0.0006 | Ry z&Rpus
n; |t |MLE BMS Best
1 [0.0019 |0.0012 Rz
30 > T0.0032 [0.0028 Rpus o (11)ds
3 | 0.0045 |0.0041 R bl Sl e Bl O
' ' BMS 4l gaal) A)a pyaiil (MSE)
1 | 0.0008 |0.0005 | Rgpys () -3al) (dcial AL
50 |2 |0.0018 |0.0016 Reys ALl AGKAT) il il
3 | 0.0026 |0.0025 Rpus i i) claleally Y
1 |0.0003 |0.0002 Rpus s(n=10.01,0 =1.5)
100 | 2 | 0.0008 |0.0008 | Ru;r&Reys 4y a0y clisll o g2 Guny
3 |0.0013 |0.0012 Rpus {(L=1000) L)% 23
1 | 0.0001 |0.0001 | Ry;r&Rgus
200 [ 2 |0.0004 |0.0004 | Ruy;r&Reys
3 | 0.0007 |0.0007 | Ry;-&Rgums
n; t MLE BMS best
a0 | L | 0.0028 | 0.0024 Rpus (12)J 522
2 | 0.0124 | 0.0111 Rpys Ut} oy e boas gia (o
3 | 0.0124 | 0.0125 Ruyx i ya W (MSE)
1 | 0.0014 | 0.0013 Rpus al Bt 4 A g2l
50 | 2 | 0.0069 | 0.0064 Rpus () 5l il
3 | 0.0070 | 0.0071 Rk AN ki) gl
1 | 0.0006 | 0.0006 | Ry r&Rpys | ilalrally Alil) Atall
100 | 2 | 0.0035 | 0.0033 Rpus A jidal
3 | 0.0038 | 0.0037 Rpus s(n=0.1,0 =1.5)
1 | 0.0003 | 0.0003 | Ry r&Rpuys Glial) g2 Gy
200 | 2 | 0.0017 | 0.0016 Rpus L3l ke 3ae A adly
3 | 0.0019 | 0.0019 | Ry z&Rpys | -(L=1000)
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n |t MLE BMS Best
e e T
: : BMS Uil cilay ya Jaeu s (o
3| 0.0130 [0.0124 Rpus s e (VSE)
1] 0.0001 [0.0001| Ryz&Rpus i Al g
50 2] 0.0042 | 0.0037 [ j‘“""“"m,@‘;n (sl
3| 0.0076 |0.0072 Rpus AL dalld i
1 0 0 Ry r&Rpys A sdal) alaally
100 | 2| 0.0022 | 0.0020 Rpus (1= 0.50 = 1.5)
3| 0.0040 [0.0039 Rpus Sl pyaa oy
1 0 0 Ry r&Rpys gl Se das Ay il
200 [ 2] 0.0011 [0.0011 | Ry z&Rpus (L=1000)
3| 0.0021 [0.0021 | Ry z&Rpus
n; |[t] MLE [ BMS best
30 | L]0.0018 [0.0015 Rpys
2] 0.0111 | 0.0095 Rpys (14)J 52
3] 0.0118 | 0.0114 Rpus Lot} cilay pa Jaaagie O
1| 0.0011 | 0.0009 Rpus A gral) Adly paiil (MSE)
50 |2 ] 0.0067 | 0.0061 Rpuys (ol sial) ) Jmaluial] oL
3] 0.0075 | 0.0074 Rpus Alall Adlidal) paddl) 331l
1]0.0004 | 0.0004 | Ryz&Rpus A ) Gy Se
100 [ 2 | 0.0031 | 0.0030 R sus Lot S o )
3| 0.0037 | 0.0036 | Ryo_1&Rpus T (151000) 35 2
1] 0.0002 | 0.0002 | Ry r&Rpus
200 | 2] 0.0015 | 0.0015 | Ry z&Rpys
3] 0.0019 | 0.0018 Rpys
n |t MLE [ BMS Best
30 |1 | 0.0003 | 0.0003 | Ryis&Rpus
2 | 0.0040 | 0.0033 Rpus (15) Jdy>
3 | 0.0096 | 0.0084 Rpus L) ilny 50 S 0 iy
1 | 0.0002 | 0.0002 | Ry r&Rpus “*‘fi ‘f“ . (‘Mﬂ
50 | 2 | 0.0026 | 0.0023 | Rpys o i 3
3 | 0.0062 | 0.0056 Rpus N IR TR
1 | 0.0001 | 0.0001 | Ry r&Rpus i ikl
100 | 2 | 0.0012 | 0.0011 Rpus 1 =0.1,0 = 2.5)
3 | 0.0030 | 0.0029 | Ryo_1&Reus | il ial) o g g oy
1 0 0 Ry -&Reys gl S 23 Ay il
200 | 2 | 0.0005 | 0.0005 | Ry r&Rpus {(L=1000)
3 | 0.0014 | 0.0014 | Ry, ;&Rpys |
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(16) Jy
Uadl) cilay ya Jans g Gy
Al a8 (MSE)
)deadescial) aURI A gaall
el gl plall () gial)
ol Aal A ata )
i il cl—alaally

(n = 05,0 = 2.5)
Cliall o gaa g i g
gl Sa are 4y il g

.(L=1000)

(17)ds>
Lhadl) ey pa Jais e (s
4l grall ddla a8l (MSE)
() 5=t Sralaiial) pldai
Aalidal) o 1) gl el
Glaleally dagl ) &Nall
L sidal)
3(m=0.01,06 =3.5)
LAy clial)asaa quuay
. (L=1000) Y, 50 23

(18) Js
Unil) iy o Jons e G
4l grall Adla 2831 (MSE)
(o) 55l Seudestial) ALY
FEVEOA] aaail) d.a\)kﬂ
Glalaally ALl sl
Aa jikal
9(n=0.01,0 = 3.5)
4 aily cliall o gaa Guuay
. (L=1000) Ll S 2

n; t MLE BMS Best
30 1] 0.0002 | 0.0002 Ry &REus
2| 0.0040 | 0.0033 Rguys
3| 0.0100 | 0.0087 Rguys
1| 0.0001 | 0.0001 Ry &REus
50| 2] 0.0022 | 0.0019 Rgus
3| 0.0058 | 0.0053 Rguys
1] 0.0001 | 0.0001 Ry &REus
100 | 2| 0.0010 | 0.0009 Rpus
3| 0.0028 | 0.0026 Rguys
1 0 0 Ry1e&Rpys
200 2| 0.0005 | 0.0004 Rguys
3| 0.0013 | 0.0012 Rgus
n; t MLE BMS Best
30 1 0 0 Ryie&Rpus
2| 0.0020 | 0.0016 Rgus
3| 0.0081 | 0.0069 Rguys
1 0 0 Ry1e&Rpuys
50| 2| 0.0010 | 0.0009 Rpus
3| 0.0044 | 0.0039 Rguys
1 0 0 Ry1e&Rpys
100 | 2| 0.0005 | 0.0005 Ry &Rpus
3| 0.0023 | 0.0022 Rguys
1 0 0 Ryre&Rpuys
200 2| 0.0002 | 0.0002 Ry &Rpus
3| 0.0010 | 0.0009 Rguys
n; t MLE BMS Best
30 1| 0.0001 | 0.0001 | Rur&Rpuys
2| 0.0017 | 0.0014 Rguys
3| 0.0059 | 0.0049 Rguys
1 0 0 Ry r&Rpuys
50| 2| 0.0008 | 0.0007 Rguys
3| 0.0030 | 0.0026 Rgus
1 0 0 Ry1e&Rpuys
100 | 2| 0.0003 | 0.0003 | Ry r&Rpuys
3| 0.0013 | 0.0013 | Ry &Rpuys
1 0 0 Ry1e&Rpuys
200 2| 0.0002 | 0.0002 | Ry &Rpuys
3| 0.0006 | 0.0006 | Ry &Rpuys

2022 &S | &b pj> 13315 a8

'Og).qa.a:\.\nk‘ Ossld / DWY\, 6)‘35" o8

(229)



Jdnl=s_illg g inlen ga il = 1jgill algenll dala jaad ed idljls paey aijlan
wnjlg—inllg Jauluinll

n; t MLE BMS Best
30 1 0 0 Ryie&Rpys (1 9) JJ"\%
2 [ 00012 | 0.0010 Rpus Lol il po Jaoa gia (s
i 0.0(())47 0.0839 S R,z,,lg u}d\ PR il (MSE]
50 | 2 | 0.0007 | 0.0006 e (ot 9alt) Jalusial) plL oM
3 0.0027 | 0.0024 Rpus Adlall ALl ki) (i) jall
1 0 0 Rue&Reus Qi jidal) cilalaally daulil)
100 [ 2 | 0.0003 | 0.0003 Ru1s&Rpus s(n=0.50=3.5)
i 0.0812 0.0gll s Rg,,}g LJﬂJ i) 0523 Giiay
200 [ 2 | 00001 | 0.0001 Rorr &R {(L=1000) 4105 20
3 0.0006 | 0.0006 Ru1r&Rpus
n; t MLE BMS Best
1 0 0 Rue&Rpus
30 2 0 0 R s &Ronpe (20) Jsx>
3 0 0 Rure&Rpys | | clan ye o sia o
1 0 0 Ry1p&Rpys (MSE) Uil
50 2 0.0003 0.0002 Rpus RPN
3 0.0017 0.0015 Rius mI
1 0 0 | Ruus&Rps| | 6050 o
100 2 0.0001 0.0001 | Ry x&Reus Sl (33 phall
3 0.0008 0.0008 | Ry r&Rpus Allall calisal)
1 0 0 Ru1r&Rpus lalrally ¥
200 2 0.0001 0.0001 | Ry z&Rpus L sidal)
3 0.0004 0.0004 | Ruyyur&Rpus
n; t MLE BMS best
a0 |_L| 0.0048 | 0.0045 Raus
2 | 0.0013 | 0.0014 Ruir
3| 0.0002 | 0.0003 Rupz (21) Jdo>
1] 0.0026 | 0.0025 Rpus (MSE) Usil il ya Ja i (o
50 [ 2| 0.0007 | 0.0007 | Ry z&Rgus (6.1 $ial) ALl Al gmal) A1 yal
3] 0.0001 | 0.0001 | Ry ;&Rpus ALl G o) ) g )
1] 0.0013 | 0.0013 | Ry r&Rpys iuia ikl clalaally At
00| 2 {008 00008 Matliss—| | oo s/ 0.10 = 15)
: : Ry1p&Rpuys 5 4 adle el
1| 0.0006 | 0.0006 | Ry r&Rpus el sa a2 S adls "'“Lﬂggz“
200 | 2| 0.0002 | 0.0002 | Ry z&Rpys - (L=1000)
3 0 0|  Ruu:&Rpus
n; [ t]| MLE | BMS Best
30 | L] 0.0046 | 0.0042 Rpus
2] 0.0013 ] 0.0014 Rpus (22) Jds
3 | 0.0002 | 0.0003 RyLE (MSE) Laid) cilay pa b g Gy
1 [0.0028 | 0.0027 Rpus (g3 sal AU A0 gaal) A1y ol
50 | 2 | 0.0008 | 0.0009 Ruyyp ASIGY ANall 8Tl paiil) 3l jhall
3 [ 0.0001 | 0.0002 RyLr iz jikal) cilalrally
10 |-1]0.0013 | 0.0013 | Ry;p&Rpys w—9(n = 0.5, =1.5)
0 | 2]0.0004[0.0004 ] Ry;r&Rpys | 15 dae A ety cliall p g2
3[0.0001 | 0.0001 | Ry &Rpys | -(L=1000)
5 | L]0.0007 | 0.0006 Rpus
o |210.0002 | 0.0002 | Ry;r&Rpys
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n, [t| MLE| BMS Best (23) o>
30 | 1| 0.0057 | 0.0049 Rpus L) lon ya o e (o
2 [0.0025 | 0.0027 Ruyuz A gl A o K (VISE)
3| 0.0005 | 0.0006 Ruye ) (31l g 51 il Uil
1| 0.0029 | 0.0026 RuyLe Al A Jall A dusa
50 | 2 | 0.0014 | 0.0015 Ry Ao dallalalaally
3]0.0003 | 0.0003 | Ryyz&Rpys $(n=0.01,6 =2.5)
1]0.0014 | 0.0013 Rpus Loadly cliallagaa oy
100 | 2 | 0.0008 | 0.0008 | Ry z&Rpys - (L=1000) 3,54 2=
3| 0.0001 | 0.0002 RuLe
1[0.0007 | 0.0007 | Ry z&Rpys
200 [ 2 0.0004 | 0.0004 | Ry ;&Rpys
3] 0.0001 | 0.0001 | Ry.-&Rpus
n; | t| MLE| BMS best
0 51 oo0e oo Ron (28) s>
. . BMS §ove .
3] 0.0015 | 0.0017 R i) Sl a B sia Gy
1] 0.0032 | 0.0029 Ruye Ao s ot (MISE)
: : BMS ) g phall (g 31 gial) aUAAL
50 | 2| 0.0022 | 0.0022 | Ry z&Rpus I i) A lall A_iliaal)
3] 0.0010] 0.0010 | Ryz&Rpus e ) ey
1] 0.0014 | 0.0013 Rgus s(n=0.1,0 = 2.5)
100 | 2| 0.0011 | 0.0011 | Ry .r&Rpuys T
3] 0.0005 | 0.0005| Ry r&Rpus (L=1000) 4105 23
1| 0.0007 | 0.0006 Rpus
200 | 2| 0.0005 | 0.0005| Ry z&Rems
3| 0.0002 | 0.0002| Ry z&Rpys
n; |t MLE BMS best
30 | 1] 0.0063 | 0.045 Rpus
2| 0.0051 | 0.0048 Rpus (25) Jsia
3] 0.0026 | 0.0028 Ry1r Ua ) e o Ja s (i
1| 0.0027 | 0.0021 Rpus il e w0 (MISE)
50 [ 2| 0.0028 | 0.0027 Rgus (s ) sl pLI A gaal)
3] 0.0015 | 0.0015| Ry z&Rpus ASldal) jpasil) g yhall
1| 0.0010 | 0.0009 Rgus Al At
100 [ 2] 0.0015 | 0.0014 Rpws o :;*5“3:“2“;;*
3] 0.0008 | 0.0008 | Ry r&Rpus il as s §
1] 0.0004 | 0.0004 | Ry r&Rpus Ll e Ay ol
200 | 2| 0.0006 | 0.0006 | Ry z&Rpus
3] 0.0004 | 0.0004 | Ry r&Rpus
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n;, | t] MLE]| BMS best
1| 0.0057 | 0.0046 R
30 57 0.0038 | 0.0037 Ron (26) Js>
3| 0.0017 | 0.0019 Rup L) by s Jas e G
1| 0.0029 | 0.0025 Rpus 4 gaal) Adla sl (MSE)
50 | 2| 0.0022 | 0.0022 Rus&Rems Gl (g 31 gial) pLtal
3| 0.0010 | 0.0011 Ry Al 4 Aldal) )
1| 0.0013 | 0.0012 Rpus L idal) cilalaally dagld)
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Reliability of the two-parameter exponential distribution
for the serial and parallel systems Comparison of some
methods of estimating a function

Rafal Laith Taher
Prof. Hossam Abdul Razzaq Rashid /

Abstract

Some statistical methods have been used to estimate the shifting parameter and
the scale parameter for the two-parameter exponential distribution and for the
serial and parallel systems. Among these methods that were used for estimation and
comparison are the Maximum likelihood (MEL) method and the Standard Bayes
method. Where the comparison between these methods was done using the mean
of error squares (MSE) statistical scale, and it was concluded through simulation
experiments that the best way to estimate the parameters of the two-parameter
exponential distribution and to estimate the reliability function and the reliability
function of the sequential system and the reliability function of the parallel system is
the method BES Standard (BMS).
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